A 9R

1H(H) 28 () 3H (K) 48 (K) 58 (&)

iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ERD=E EXRD=E EXRD=E EXS=E EXSE
AR ER) 60| [ [HBEX(FEE-8) 0| (B |2 50 (S [HEX(FFE-H) 70| (Bt |myek B 60
E IxpE AR 5| |1F [BEaxER-A) so| & [=m/ <o 50 |F  [BEX(EHE-A) 80| [ [k#iE B 5
B |semex 0s| | U |pmm 75| [ 7 |mmiek 05
é FEEEK (1emAYIY) 20 3 (B Bhvd AU (288 E7)—) 2 R 7.5 S 43 206 5 HE(2 X 2emRATAR) 20
o [EHOSKEGR—L) 5[ [y S =) o |&EE 0.6
# |AB 5| (A [4EL 206| (3L |43 206 BAHAIF 15| [~ lIzAlz< 0.8
Z [hhFE 5| [1F T EE AREINEZ: 10
[ |®oEss ke 5| |~ |28 85| |[F  [4) L@t 40| [T [Esromn ik 0| (A A 5
Ao [l ] |F [rasermom 25 (b |rham eSS 2] [V [hoEss ke 5
z [BE 4 |z BB 1L |EZE 10| |5 [T 25 CE 1
A L3R 35| | |EE 30| |z [AZ 5 | M35 2| |l L&KW 2
Yy |LB¥E 0.8 i 5/ | [F3FUA 4 (i |[FrFUuA 10| |7 | LB 1.3
-  |&iE 03| | [AB 10 [R[455H 05| | |AB 10 EE 1
oo|ax 15 |Y  |&E 3| [# [rookEek—i) 8| U1 [FExrarys 0.5
S 206 FLLLEH (RFAR) o8| |V [Lam 3| | £z 06| |Y |&& 04
7l & Y545 M X N i 1.5 ;{: I2Alz< 0.2 'E ERE 0.1

v EERY 25 7 g 3 05) | L&V 07| | |CEH 1 %
C iz 2 | L&KW 3 = |BIE 0.3 FHE 3 i |&R 206

& |AB 1| |4 [ 1|17 [SL&£S 0.02| |3 | 2| o
¥ | |E)HR—lLa—r 5| |1 |A4RE—Y—X 1| (B |k 10| |F |[L&SWH 15 [V |ZedY 10
7 [EuLE 13| [A [FEraryx 05| |V L [Fasy o6 |7 [Az 7
¥ (B) R EBRLYY Y 10 ? TASA 0.7 |:)I (A)Jovay— EE ke 30 it SRE 0.03 ¥ (ff)7"—JLa—> 7
5 g = 20| | K TiE 0.5 TARA 1 |5 PTFELKER 5
L Rt reTn ke 20| || X 20| [+, |GDRHEM 0.5
[ (LR &K ke 15 |z [F¥RY 20| [z |[R—ar(EM) 5 4 B EaBrLYL LY 10

P () IYHRRY—F AR 15| |& |FR/IASHR 20| | |GBAEVAITFAT ke 18 BUREMEIES (NG 8| |v
R (psFLey— 20 Zp35Y 15| |12 |EHE 30 E 30| (R |reranacammns 5
S 0] |7 (A 5| | [FeRy 20 i 5 7', (8) F-hoth s 10
7 [axESE 15| |5 |@arerosay g 7 [ 10 ADELIT B A 30
N=Fi 06| |5 » |EBY 2 Bl 1|5 [F222H4 10
7K 15| |5 &Y 30 Y55 il 0.5 L& 05| |1 FLLW=H (RSMR) 0.5
A |#EFOEXY 11> [E=EKkE 1ke 15 BiE 04| (X |[¥3&H 0.5
2 Yo |@psr—7 ke 4 BlYET LA 4 (B HBR—T ke 4
Y 1 [ERESE i HUEH 1 L& i
; ; BiE 0.4 Ik 130 Bi5 0.35
=z |EL&D 0.03 FErary A 0.3
1 H | FEAIA 0.5 L&D 0.05
L v o—yxT 0.1 5 130

bR 90
() Fvo71F—X Sg i 5
20




A 9R

8H(A) 98 () 108 (k) 118 (K) 128 (#)
kI % BRf — A&y | [#xzsa BRf —AHY | [#ee BR% —AHY | [#zsa BR% —AHY | sz BR% —AZHY
ERHE TR E EHRPE EHRPE EHRPE
S |BBEXEE-H) 70l |7 |3y 50 = |HEREH-B) 0] (F [WEF> -2 50| [S  [HEEX(EFE-B) 70
- maxER-a) 80| |7 [3yxity 5o (& ek (EEE-A) go| |7 [UEDF> ha-6 70| |IF [#EEk (- ) 80
i ~ w 1 [@r I
4 43 206/ ., |4E 206/ |4 43 206| | _ 4 43 206
] ] | R 206 |2
WRBt (3 X BonR5AR) 30| |&£ [BAEEAZS 30 ATV —OhsMTE RS 40 MSAEDHBEE 40
A |EE N EE S 35| [ |Gf-tail 5| |~ |BHEHZTF 20| &
= | E&E 1 STEM 20| |L |dha¥FE 4 |7 |FRBEIVTF 15 A sz 25
* L3 04| |B  |zrocksEc—m) 15 2 L3 07| |[¥ |wbvEbyxs 1k 20] [F [£0L 25
;‘ ET 30 TA:, AS ] R I BT 24| [~ [EZE 30;2 =p>5Y 20
FrAY 30| |- [ I ) =B% 2| |4 A 14 BYBSE 1
+ |[BERFLTF ke 15| & |&£= 05| |1 |S=E# 05| g, |E==v 4| |z 78 |@ernosriyy 10
L |AB 8|l |& |35 05| [z |k 3 L—Xv 1] [
L |hhEFE 8| [5 (H)MBR—T 1ke 4 |H o |I2AlK 0.6 pi:b 1l 5
I2AI=¢ 05) (A% L&KW 12| [ |[BHL 20| |7 |&= 05| [N [Cedirg 30
A [CEm 1| |~ &k 0.3 FrAY 20| |7 955 o5 |2 [E=z 20
€ JLesw 2 073 L& 0.03 ; AR 20 {"j INEB 1|3 [xz 7
; =} 08| [ FEoavyi 04 |2 |EAXEEA 1.4 7__ I FoyT ke of |5 | ZFE= 7
A 7 |& 100| |4, [ELZE#H 05| [ |2REZ=Y=R 35| [z |HRE 5
A |BBL 35| (& A |Led 0.2 HL—# 12 |3 |[BHE 5.5
INAER 30 CR)REKE 10| |& P FAESHE 1l (o |H&Z 5
AB 5| (X [FvRy 25| |&  |messexemzziz) 15| |3 [FEravy 05| |  |EFL =LA 4
() B LKLy 10| |2 [E=e3Y 15 Bl 1] [ [&& 03] |l [ 110
j'; AS 7 /‘i 0L 20 g L& 0.03 ;ﬁ
() mEH M A 80f |5 |EEmIErLyyyy 8| |y [HELIED 10| = L [UEDF—X i 135
g DECAITL 10| | [Cedird 60| |4
(B SESEY— 85 ROMMEL 40 AS 10| | = AS 10| |
A 5 |1 (| R—JLa—y 10| [
£ EHT 9| |7 | ERS ke 5| |Z
A EFL LA 4 wTis 12| [t
ﬁ 7k 110 5
| ~—av (&) 5 |]
- (LM)59 580 1ke 25| =
h E 30| |~
) FhFE 5| |
7 Y54 05| (®
~ ) M>Z—F ke 4 |7
L&SK 05| |~
FELaYA 0.3
BiE 0.2
cL&d 0.03
= 120




A 9R

168 () 17H (k) 188 (K) 198 (%)
#RII % Bmd —AEY | |#zz Bmd —ANEHY | |#iIz Bmd —ANHEY | @Iz Bmd —AZY
EXRD=E EXRD=E EXS=E EXS=E
S EEE 50 (B [HEk(ER) 62 [ [HEXEHE-B) 70| (13 [HEk(ER) 59
S ETAR, 50| | [HEXER) 68 % BaX(BiE-8) 80| |T |[mExEr) 65
< A XKHE B 6 Et 35K 9
L |44 206 KHE B iy 43 206/ |2 5% 10
4 g, 2X 2.2
=3 s 8L (2 x 2on) (BIRE) 24| (3 42 206 COBBHTERA 8- REL(2x 2om) 21 (& (B TERT ke 8
$L e b RAL(2 x 20m) (F)IIRE) 16 & 8) BT ERA b4 "AL (2 x 20m) 14 $L 5?5@ 3
A—a> (55 )) 5 E DEERSAR Smmil AR Tke 12| |Y (A BELNA— TASRADE 20 - BiE 0.6
& [mavaras Tk 15| |2 [mesexemzs iz 20| |A [fat=tail 5| |5
gj ET 40 f BB i f WYECE 1 RIS 206
L |Lepnd 0| |5 |[EBZEG/20) 17] |5 [ 1] %
5 |EIKE ke 25| 5. | EZE 40| || L3 08| |~ |Bmit(2x3mzx517) 30
% BT 20| o |AB 10| [ |ZAl=< 08| iz [2EIAIZRL 20
D AS 10| |5 (A) PV AIFA 5008 1| |& IR EE 2] |15 FENZIFES 35
b lIzAlK 1 [F  |FLLntF@Rs12) 08| |Y [L&SKW 18] | |AB 15
X |y5am 1| & [Lesw 3 |® [BE 15| B [maouaifa soos 7
; (&) PR FryT ke 3 4 =B 25| |1T 2ZRE 0.05 ;’) Vwry: 1
T ERESE 1| |p [BE o1l |« [& 4 LS50 4
N =] 08| | [BIYE LA 2| |4, L |[#YA 2
N |[PRE—Y—R 07| lo |i& 55| |18 [TARD 15| |5 | 2
¥ [FExravuA 04| |& 5 ELSIES 25 |5 [BE 1.5
L |BiE 03| |x  [|d%L 40 2EZAlIzeL 10 @ [cARA 0.5
FCLsS 00s| |&  [Fruiyqa 20| [® [Az 7| & (Lt 8
;3 il 20 2 AS 7 g (A)EPLAIFA 500g 6 i
o O K2 NP7 ) 10 |5 [SF# 1 | 5B 30
vy LB ECHHE 15 |2 w L&KW 2 5 5
F e 30| [ [EVLEDY 10| |3 |#YA 1 & 20
I 3L 30| [ ) |ZiB%E 1 ¥ 5
TYUF 7| |Y | FLbh® k) 0.5
(\)R—)a—y 5 _ |ewTovay— mE ke 35 PHE 5.5
Fpi] 0.5 = |wTiE 0.5 HHE 5
BS54 1 : ZFL LH 4
L&SK 0.2 <z  |E=kxE 30 X 110
FEoavyA 0.2 k
BiE 0.1
L&D 0.03




A 9R

228 (A)
iz BEmf —ANEY
ERHSE
R =PaYAVAC: ) 50
7 |ayRiU (LR 50
*;ﬁ Tef-ta i 4
JEL 7‘5:1_*}5 5
o L 2 1
I
N FEL 206
v
BRI M- REAL (2 X 1om) 15
ﬂz A % BAL(2X Tom) 10
* [&®E(KH5m) 7
o0 |EE 40
v |AB 7
v ADEfT 5
7 [PhREFE 5
1 |z 06
i (B)H5X—T 1ke 4
| [L&3R 1
- [BEE 1
Y55 H 0.5
£ [FExraryuA 0.5
| Bif 0.2
¥ |oLss 0.03
A [CEm 0.1
H =
5 ;5 120
i
B UVLIEKE 10
4 Jnvay— EE ke 25
Zp3Y 20
() k—I)La—> 7
FISTUAH 5
({B) Bl ERERLYL LY 10

248 (K) 258 (K) 268 (£)
k& Bmd —AEY | [#z2 Bmd —AEY | |#iIs Bmd —AZY
ERDE ERDE E%RDE
LS I=E. Y€ A=) 70| |8 [HEEX(ER) 60| (S |HEX(EHE-B) 70
? |#EEx(EE-A) 80| |» [KHE B 5| & @Ak (EE-a) 80
) SR 05| |~
5 43 206] | & O BA B BL (1 X 1om) 9 & 43 206
L w R B ELL( X Tem) 6 g
[ SR (2 X 2mASAR) 25 ; AS 5 PR (3 X BnRTAR) 40
7 |EE 35| [ [FLLLEFRSAR) 05| [ [EE 1
1 [Lepnd 30| [= [T EE ke 5/ |14 L&KW 1
A &0t 2mf) 20 & [@FLAR 2l |7 [Eesy 40
s A 10| f& (BL)ULE 05 o EH 30
3 Lol 7 ; Y3548 0.8 || AS 10
I ¥ [z LW 3 E—<v 8
w |RTERT ke 5| (& BB 2| | |EZE 1
7 |IzAal< [ e = 13| |# 1241 05
PR 02| |z |&iE 04| |RX  |C&m@ 1
Y [y55m 2| |4 [HLER 0.8 7'e FHE 2
,} INEH 51 (2 FALRE—Y—R 0.7
Y548 5 43 206 L&SWp 1
N L8 RINEY A i
12 |EHBR—F 1kg 3 TRy 20 tB%E 0.7
I |[@®rerrFeyd Tk 2| |F |Zp3Y 15 ZiRE 0.05
L [928—v—2 13| |5 [Frrva 20
EAMDY—R 1| | AS 5 =28 25
L& 1 'j UE)BELZRLyL LY 8 RUL /AL GG BiRE 7
FAESH 1 |> EH 15
Fr YR 450g 1| |~ (LR)S5F5ER1ke 20 AS 7
a5 05| |7 [EZ 20 ADELIT 7
ZL&S 004| |2 |ZOEEIT 7 FoTHA 10
FExoay 4 05| |5 AS 5 S5 05
= 85| [+ [PtF 5 (E)MBR—F 1kg 4
5 SLHA 5 L&5K 0.5
(8) BEHS v R 1| |15 [Lesw 05 FEo Oy 04
FrRy 25| | BiE 0.3 Big 0.3
EpSY 20 {)\ BlYs LA 4 ) 0.03
AL N |5 & 120 CFEih 0.2
(B ERBELYLLY 10 él;) = 110
4 |UBSYIRFYY 15
IMNEFL 4| [+
5
i
A
¥+
M
v




296 (A) 30H ()
iz BEmf —ANEY | [#iz Banf —ANEY
ERD=E EXRD=E
3 |ayRiRy 50[ [ |[BAXEH-B) 70
L EER 50| ¥ [mEaxEE-a) 80
~ A
;\ et 206| |4 42 206
2l
4 |BAkEx3mRS5(R) 25 ’ RsEnHZE 40
A (R—aEm) 5| | &

. G KEKE 30| |I§ [Furvva 25
'T‘ Cedsd 45 2 =p5Y 25
5 EH 40 z AS 7
g |AB 10| (= [BYBIE 1.5
[ Y55 H 1 (B BLERLYL LY 8
2 (%) FIRE2—L kg 6| [F
R [@rerrress e 3 |~ =2 25

e 12| |7 |E=& 30
D |msesE 1 | A XGRS 7
> |PRE=Y—R 07| |4 b 5
F | FERZOALVA 06 | [FELbhAr® (Gvh) 0.7
4 (BiE 03| [ [L&3W 1
5 [ZLsS 005| (& |:&H& 1
L 2| | [BE 0.3
. D lEmyg £LA 4

| (®)7ovay— EE ke 25| | HLEfM 1
5 [EeRY 20| |5 |k 110
oL |[Ee3Y 15| |3
[ () k—I)La—> 5| | &

(B) hAZ DKLy g| |+
H
(E)3—5 1Lk #HiRie 70 2
+
*
L
it

A 9R



